Pensieve Header: Some Knot[8,17] calculations.
Warning: SForm prints wu here!

BSinplify = Factor;
Set Attributes[BCol |l ect, Listable];
BCol l ect [Blw_, u_11 := B[
BSimplify[w],
Col l ect [u, _h, Collect[#, _t, BSinmplify] &]
1
(» "L" for "Labels" %)
hL[B_] := Union[Cases[B, h[s_] = s, Infinity]l;
tL[B_] := Union[Cases[B, t[s_1|Ts_ » s, Infinity]];
dL[B_]1 := Union[hL[B], tL[BII;
BForm[Bl[w_, p_11 := Mdule[
{tails, heads, nat},
tails = tL[B[w, u]]; heads = hL[B[w, u]];
mat = Quter [BSinplify[Coefficient [w*yu, h[#l]t [#2]]] & heads, tails];
PrependTo[mat, t /@ tails];
mat = Prepend[Transpose[nat], Prepend[h /@ heads, w]];
Mat ri xFor m[mat ]
1
BForm[el se_] : = else /. B_B :=» BFormp];
tmix_, y_, z_1[B_] :=8 /. {t[x]->t[z], tlyl->t[z], Tx>T; Ty>T.}
hmix_, y_, z_1[Blw_, u_1] := Mdule]
{yx = D[y, h[Xx]1, wy =D[w, hlyll, M=u /. h[x] |h[y]l » 0},
Blw, M+h[z] (yX+wy+ (yx /. t[i_1 = 1)vyy)] // BCollect
1
thswap[y_, x_1[Blw_, u_]] := Module|
{a, B, ¥, &, e},
= Coefficient [u, h[x]t[yll:;
= Dlu, t[yl]l /. h[x] - O;
Dlu, h[x1] /. t[y]l = 0O;
=u /. hix]|t[y]l » 0;
= 1l+a;
Blwxe, Plus|
a(l+(y /. t[i_1 » 1) /e)hixIt[yl,
B(1+(y /. t[i_1 = 1)/€)tlyl,
¥/ eh[Xx],
6-1/exyx*xpB
11 77 BCollect

m O X ™K
1]

|E
dm[x_, vy_, z_1[B_]1 := B // thswap[x, y] // hm[x, vy, z] // tm[x, vy, z1;
B /. Blwl_, pl 1B[w2_, p2_1 := Blwl *w2, pl+u2?];
Ro[x_, y_1 := B[1, (T-1)=*t[x]1h[yll];
Rm[x_, y_1 :=B[1l, (1/T-1)=«t[x]h[y]l];
Format [3_B, StandardForm] := BFor m[B3];

{Re[1, 2], Rm[1, 2]}

1 hi2] 1 h[2]
{(t[l} —1+T)’ [tm _*”]}

T
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Knot[8, 17] calculation:

RM[12, 1]
1 hi1)
[t [12] - =7

RM{12, 11 Rm[2, 7] // dm[l, 2, 1]

1 h[l] h[7]
t[1] o -
-1+T
- 0

t [12]
(Rm[12, 11 Rm[2, 7] // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 1]

-1+T

t[1] 0 -
t [8] B f_lr;T B (,]:I;T)Z
t[12] -=+ 0

((Rmr12, 11 Rm[2, 71 7/ dm[l, 2, 11) Rm[8, 31 // dm[l, 3, 11) Rm[4, 111 // dm[1, 4, 1]
1 hil] h{7] h[l1]

t [l} 0 B fizT _ f%;T
t[8] - f_lr;T _ (,1T+ZT)2 0
t[12) - =1 0 0

-
(((Rm[12, 11 Rm[2, 7] // dm[1, 2, 11) Rm[8, 31 // dm[1, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Rp[16, 51 // dm[1, 5, 1]

1 h{1] h[(7] h[l1]
-1+T

t[1] o - = 1-T
t 8] —’#;T -(’lT;T)Z 0
t[12) - == 0 0

((((RM[12, 1] Rm[2, 7] // dm[1, 2, 1]) Rm(8, 3] // dm[1, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Rp[16, 5] // dm[1, 5, 1]) Ro[6, 13] // dm[1, 6, 1]

1 hi1] h[7] h[11] h[13]

t 1] 0 o i L
tig] -4t LA o 0
t[12) - =T 0 0 0
t [16] -1+T (-1+T)2 (-1+T)2 0
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((((Rm[12, 1] Rm[2, 71 // dm[l, 2, 11) Rm[8, 3] // dm[1, 3, 11) Rm[4, 111 // dm[1, 4, 1])
Rp[16, 51 // dm[l, 5, 1]) Rp[6, 13] // dm[1, 6, 11 // dm[l, 7, 1]

% h{l] h[11] h[13)]
t1] _7_1r;T _71T+T 71T+T
e AT o g
t[12] -—* 0 0

SRR L

((((Rm[12, 1] Rm[2, 7] // dm[1, 2, 1]) Rm(8, 3] // dm[l, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Ro[16, 5] // dm[1, 5, 1])
Ro[6, 131 // dm[1, 6, 11 // dm[1, 7, 1] // dm[11, 12, 11]

T h[1] h[11] h[13]
I
(i) oA -camt
t[11] -’#;T 0 0
tae) AT Lam

((((RM[12, 11 Rm[2, 7] // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Ro[16, 5] // dm[1l, 5, 1]) Rp[6, 131 //
dm[1, 6, 1] // dm[1, 7, 1] // dm{11, 12, 11] // dm[{11, 13, 11]

1
F
t[1]
t [8]
t [11]

t [16]

h[l] h[11]
(-1+T) <717T+T2) (-1+T)2
T3 TZ
(-1+T) <71+2 T-3 T2+T3) (-1+T)4
T3 - T3
-1+T
- 0
(-1+T) <7l+2 T-3 T2+T3) (-1+T)2 (17T+T2)
- T3 T3

((((RM[12, 1] Rm[2, 7] // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Ro[16, 5] // dm[1, 5, 1]) Ro[6, 13] // dm[1, 6, 1] //
dm[1, 7, 11 // dm[11, 12, 111 // dm[11, 13, 11] // dm[1, 8, 1]

= h(1] h[11]
(-2+T) (-1+T) (1472 (-1+T)2 (1-T+T?
t1] = (xm) T(3 )
t[11] - 0
t[(16] - (-1+T) (-1+2 T-3T2+T2) (-14T)2 (1-T+T2)

T3 T3
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(((((RM[12, 11 RM[2, 7] // dm[l, 2, 11) Rm[8, 3] // dm[1, 3, 1]) Rm[4, 111 // dm[1, 4, 1])
Rp[16, 51 // dm[l1, 5, 11) Rp[6, 131 // dm[l, 6, 1] // dm[1, 7, 11 //
dm[11, 12, 111 /7 dm[l1, 13, 11] /7 dm[l, 8, 11) Rp[14, 9]

= hi1] h[9] h[11]
(-2+T) (-1+T) (1+T2 (-1+T)2 (1-T+T2
tpg  SRODET . CHTERTT
t[11] - ’1T*T 0 0
t [14] 0 T 0
(1+T) (142 T-3 T2+T3 (-14T)2 (1-T+T2
t(1) - T ) e

(((((Rm[12, 11 Rm[2, 7] // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 1]) Rm[(4, 11] // dm[1, 4, 1])
Ro[16, 5] // dm[l, 5, 1]) Rp[6, 13] // dm[l, 6, 1] //
dm[1, 7, 11 // dm[11, 12, 11] // dm[11, 13, 11] // dm[1, 8, 11)
Ro[14, 9] // dm[11, 14, 11] // dm[1, 9, 1]

T h[l] h[1l1)
(-24T) (-14T) (14T2) (-1+T)2 (1-T+T?)
t [1} T2 - T2
(-1+T)3 (1-T+T? (-1+T)3 (1-T+T?
tpayy - TR e
(-1+T) (-1+2T-3 T2+T2 (-1+T)2 (1-T+T2
i) - T2 ) 1)

((((((Rm[12, 11 Rm[2, 71 // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 11) Rm[4, 111 // dm[1, 4, 1])
Rp[16, 5] // dm[l, 5, 1]) Rp[6, 131 // dm[1, 6, 11 //
dm[1, 7, 11 // dm[11, 12, 11] // dm[11, 13, 111 // dm[1, 8, 1])
Rp[14, 9] // dm[11, 14, 11] // dm[1, 9, 1]) Rp[10, 15]

T hil] h[11] h[15]
t[1] (-2+T) (fi;T) (1+72) - (—1+T)2T(21,T+-|—2) 0
t [10] 0 0 o
t[11) 3 (71+T)3T(317T+T2) (71+T)3T217T+T2)
t [16] - (-1+T) (fl;j T-3724T3) (71+T)2T217T+T2) 0

(CC(((RM[12, 1] Rm[2, 71 // dm[{1, 2, 11) Rm[8, 31 // dm[1, 3, 11) Rm(4, 111 // dm[1, 4, 1)
Ro[16, 5] // dm[1, 5, 1]) Rp[6, 13] // dm[1, 6, 1] // dm[1, 7, 1] //
dm[11, 12, 11] // dm[i1, 13, 11] // dm[1, 8, 1]) Ro[14, 9] //
dm[11, 14, 11] // dm[i, 9, 1]) Rp[10, 15] // dm[1, 10, 1]

" hi1] h(11)  h(15]
t[1] (~2+4T) (—:T) (1+72) ~ (*1+T)2T(217T+T2) LT
t[11] - (’1+T)3T(31’T*T2) (71+T>3T(317T+T2> 0
t [16] - (-1+T) (—1;5 T-372+T3) (71+T)2T<31,T+-|—2> 0
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((((((Rm[12, 11 Rm[2, 71 // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 11) Rm[4, 111 // dm[1, 4, 1])
Rp[16, 5] // dm[1, 5, 1]) Rp[6, 131 // dm[1, 6, 1] // dm[1, 7, 11 //
dm[11, 12, 111 // dm[11, 13, 11] // dm[1, 8, 1]) Rp[14, 9] //
dm[11, 14, 111 // dm[1, 9, 1]) Rp[10, 15] // dm[1, 10, 1] // dm[11, 15, 11]

= h(1] h([11]
(-1+T) (-1+2T-6T2+5 T3-3 T4+T°) (-1+T) (-143T-6T2+5 T3-3 T44+T°)
t[1] -
TS T3
(-1+T)3 (1-T+T? ~1+T)3 (1-T+T2
t[11] LT3 (1T (-1+T)° (1-T+T2)
T2 T2
“1+T) (142 T-3 T2+7T3 “1+T)2 (1-T+T2
t[e] - lmm ) (-1+)? (1-T+T)
T3 T3

((((((Rm[12, 1] Rm[2, 7] // dm[l, 2, 1]) Rm[8, 3] // dm[1, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Ro[16, 5] // dm[l, 5, 1]) Rp[6, 13] // dm[l, 6, 1] //
dm[1, 7, 11 // dmi1, 12, 11] // dm[i1, 13, 11] // dm[i, 8, 11)
Rp[14, 9] // dm[ll, 14, 11] // dm[l, 9, 1]) Rp[10, 15] //
dm[i, 10, 1] // dm[1i, 15, 11] // dm[1l, 16, 11]

% h[1) h[11]
(-1+T) (—l+2T—6T2+5 T3—3T4+T5) (-1+T) (’1+3T*6T2+5T373T4+T5)
t[1] _
T3 T3
“1+T) (-1+3 T-6 T2+5 T3-3 T4+ T5 C1aT)2 (1-TsT2)2
t[11) - D ) (12 (1-TeT)"
T8 T3

((((((RmM[12, 1] Rm[2, 7] // dm[1, 2, 1]) Rm[8, 3] // dm[1, 3, 1]) Rm[4, 11] // dm[1, 4, 1])
Rp[16, 5] // dm[l, 5, 11) Ro[6, 13] // dm[l, 6, 1] //
dm[1, 7, 1] // dm[11, 12, 11] // dm[11, 13, 11] // dm[l, 8, 1])
Ro[14, 9] // dm[11, 14, 11] // dm[1, 9, 1]) Rp[10, 15] //
dm[1, 10, 1] // dm[11, 15, 11] // dm[11, 16, 11] // dm[1, 11, 1]

1-4T+8T2-11T48 T4-4 T5+T¢

= h(1]
t[1] 0




